
CHEMISTRY

BOOKS - FULL MARKS CHEMISTRY (TAMIL ENGLISH)

P - BLOCK ELEMENTS - II

Evaluate Yourself

1. Write the products formed in the reaction of nitric acid (both

dilute and concentrated) with zinc. 

(i) Zinc with Conc. : 


(ii) Zinc with Dil. 

Watch Video Solution

HNO3

HNO3 :

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Kfmv2YbPaK9e


Textbook Evaluation I Choose The Best Answer

1. In which of the following,  is not used ?

A. Nessler's reagnet

B. Reagent for the analysis of IV group basic radical

C. Reagent for the analysis of III group basic radical

D. Tollen's reagent

Answer: A

Watch Video Solution

NH3

2. Which is true regarding nitrogen ?

A. least electrongegative element

https://dl.doubtnut.com/l/_7GnhtITSA3kM
https://dl.doubtnut.com/l/_sJ4KYuaEc5wn


B. has low ionisation enthalpy than oxygen

C. d - ortbitals available

D. ability to form  bonds with itself

Answer: D

Watch Video Solution

pπ − pπ

3. An element belongs to group 15 and  period of the

periodic table, its electronic configuration .

A. 

B. 

C. 

D. 

3rd

1s22s23s4

1s22s2sp3

1s22s22p63s23p2

1s22s22p63s23p3

https://dl.doubtnut.com/l/_sJ4KYuaEc5wn
https://dl.doubtnut.com/l/_qe1xrvgtWUqd


Answer: D

Watch Video Solution

4. Solid (A) reacts with strong aqueous NaOH liberating a foul

smelling gas (B) which spontaneously burn in air giving smoky

rings. A and B are respectively

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P4  (red) and PH3

P4  (white) and PH3

S8 and H2S

P4  (white) and H2S

https://dl.doubtnut.com/l/_qe1xrvgtWUqd
https://dl.doubtnut.com/l/_hes4qm4y7BER


5. In the brown ring test, brown colour of the ring is due to

A. a mixture of 

B. Nitroso ferrous sulphate

C. Ferrous nitrate

D. Ferric nitrate.

Answer: B

Watch Video Solution

NO and NO2

6. On hydrolysis,  gives ________

A.  on heating undergoes self - oxidation reduction

as : 

PCl5

H3PO3

https://dl.doubtnut.com/l/_RW2LmwkjmMBi
https://dl.doubtnut.com/l/_tZslMwA7uAgJ


B. 

C. 

D. 

Answer: A

Watch Video Solution

PH3

H3PO4

POCl3

7.  reacts with cold water to give

A. 

B. 

C. 

D. 

Answer: A

P4O6

H3PO3

H4P2O7

HPO3

H3PO4

https://dl.doubtnut.com/l/_tZslMwA7uAgJ
https://dl.doubtnut.com/l/_4MGEKE3Myyhw


Watch Video Solution

8. The basicity of pyrophosphorous acid  is

A. 4

B. 2

C. 3

D. 5

Answer: B

Watch Video Solution

(H4P2O5)

9. The molarity of given orthophosphoric acid solution is 2M. its

normality

https://dl.doubtnut.com/l/_4MGEKE3Myyhw
https://dl.doubtnut.com/l/_3oiHEkuHyyIp
https://dl.doubtnut.com/l/_Z15a6dsO581a


A. 6N

B. 4N

C. 2N

D. none of these

Answer: A

Watch Video Solution

10. Assertion : bond dissociation energy of fluorine is greater

than chlorine gas. 

Reason: chlorine has more electronic repulsion than fluorine.

A. Both assertion and reason are true and reason is the

correct explanation of assertion.

https://dl.doubtnut.com/l/_Z15a6dsO581a
https://dl.doubtnut.com/l/_d6Wam1nkz4ga


B. Both assertion and reason are true but reason is not the

correct explanation of assertion.

C. Assertion is true but reason are false.

D. Both assertion and reason are false.

Answer: D

Watch Video Solution

11. Among the following, which is the strongest oxidizing agent

?

A. 

B. 

C. 

Cl2

F2

Br2

https://dl.doubtnut.com/l/_d6Wam1nkz4ga
https://dl.doubtnut.com/l/_TdMRbBBm8Q0Y


D. 

Answer: B

Watch Video Solution

I2

12. The correct order of the thermal stability of hydrogen halide

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HI > HBr > HCl > HF

HF > HCl > HBr > HI

HCl > HF > HBr > HI

HI > HCl > HF > HBr

https://dl.doubtnut.com/l/_TdMRbBBm8Q0Y
https://dl.doubtnut.com/l/_OhZEQKrmxfeO


13. Which one of the following compounds is not formed ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

XeOF4

XeO3

XeF2

NeF2

14. Most easily liquefiable gas is …………… .

A. 

B. 

Ar

Ne

https://dl.doubtnut.com/l/_OhZEQKrmxfeO
https://dl.doubtnut.com/l/_XuB8GacYzxfG
https://dl.doubtnut.com/l/_3Es4vPdyfw11


C. 

D. 

Answer: C

View Text Solution

He

Kr

15.  on complete hydrolysis produces

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF6

XeOF4

XeO2F2

XeO3

XeO3

https://dl.doubtnut.com/l/_3Es4vPdyfw11
https://dl.doubtnut.com/l/_WKgMVII9T1CX


16. On oxidation with iodine, sulphite ion is transformed to

……………… .

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

S4O
2 −
6

S2O
2 −
6

SO
2 −
4

SO2 −
3

17. Which of the following is strongest acid among all ?

A. HI

https://dl.doubtnut.com/l/_WKgMVII9T1CX
https://dl.doubtnut.com/l/_4ENqFKYxzRtB
https://dl.doubtnut.com/l/_ueFqFFpXTABy


B. 

C. 

D. 

Answer: A

Watch Video Solution

HF

HBr

HCl

18. Which one of the following is correct for the bond

dissociation enthalpy of halogen molecules ?

A. 

B. 

C. 

D. 

Br2 > I2 > F2 > Cl2

F2 > Cl2 > Br2 > I2

I2 > Br2 > Cl2 > F2

Cl2 > Br2 > F2 > I2

https://dl.doubtnut.com/l/_ueFqFFpXTABy
https://dl.doubtnut.com/l/_AXnDnTaokBZm


Answer: D

Watch Video Solution

19. Among the following the correct order of acidity is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HClO2 < HClO < HClO3 < HClO4

HClO4 < HClO2 < HClO < HClO3

HClO3 < HClO4 < HClO2 < HClO

HClO < HClO2 < HClO3 < HClO4

20. When copper is heated with conc  it producesHNO3

https://dl.doubtnut.com/l/_AXnDnTaokBZm
https://dl.doubtnut.com/l/_lPUD6re6ullz
https://dl.doubtnut.com/l/_VMujLHWbskLi


Textbook Evaluation Ii Answer The Following Questions

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu(NO3)2, NO and NO2

Cu(NO3)2 and N2O

Cu(NO3)2 and NO2

Cu(NO3)2 and NO

1. What is inert pair effect ?

Watch Video Solution

https://dl.doubtnut.com/l/_VMujLHWbskLi
https://dl.doubtnut.com/l/_YcpWoLikCBKG


2. Chalcogens belongs to p-block. Give reason.

Watch Video Solution

3. Explain why fluorine always exhibit an oxidation state of -1 ?

Watch Video Solution

4. Give the oxidation state of halogen in the following. 

(a) 

Watch Video Solution

OF2   (b)O2F2   (c)Cl2O3   (d)I2O4

5. What are interhalogen compounds ? Give examples .

Watch Video Solution

https://dl.doubtnut.com/l/_PDEmh1djm8Jq
https://dl.doubtnut.com/l/_mEVvA6Bt4YXU
https://dl.doubtnut.com/l/_jYJDP5hvLbdK
https://dl.doubtnut.com/l/_jYj1GKwhoUtI


6. Why fluorine is more reactive than other halogens?

Watch Video Solution

7. Give the uses of helium .

Watch Video Solution

8. What is the hybridisation of iodine in  ? Give its structure

.

Watch Video Solution

IF7

https://dl.doubtnut.com/l/_jYj1GKwhoUtI
https://dl.doubtnut.com/l/_lL6SMB59oieC
https://dl.doubtnut.com/l/_ayG7w56vqs7U
https://dl.doubtnut.com/l/_tuCcy6uOfYLh


9. Give the balanced equation for the reaction between chlorine

with cold  and hot .

Watch Video Solution

NaOH NaOH

10. How will you prepare chlorine in the laboratory ?

Watch Video Solution

11. Give the uses of sulphuric acid.

Watch Video Solution

12. Give a reason to support that sulphuric acid is a dehydrating

agent.

https://dl.doubtnut.com/l/_2MMWz9MVnRzm
https://dl.doubtnut.com/l/_nnrub3NYKuUQ
https://dl.doubtnut.com/l/_913makQZeS8N
https://dl.doubtnut.com/l/_N5N7AfiDHjUf


Watch Video Solution

13. Write the reason for the anamolous behaviour of nitrogen .

Watch Video Solution

14. Write the molecular formula and structural formula for the

following molecules. 

(a) Nitric acid (b) dinitrogen pentoxide (c ) phosphoric acid (d)

phosphine

Watch Video Solution

15. Give the uses of argon.

Watch Video Solution

https://dl.doubtnut.com/l/_N5N7AfiDHjUf
https://dl.doubtnut.com/l/_TqdicMcy0Mlu
https://dl.doubtnut.com/l/_xgFIxB5gqwf8
https://dl.doubtnut.com/l/_crcyQXf8o4yf


16. Write the valence shell electronic configuration of group-15

elements.

Watch Video Solution

17. Give the equations to illustrate the chemical behaviour of

phosphine .

Watch Video Solution

18. Give a reaction between nitric acid and a basic oxide.

Watch Video Solution

https://dl.doubtnut.com/l/_crcyQXf8o4yf
https://dl.doubtnut.com/l/_brWNHhx5uQVs
https://dl.doubtnut.com/l/_EQHs1iG6UwRw
https://dl.doubtnut.com/l/_rM6nhgg09iDS


19. What happens when  is heated ?

Watch Video Solution

PCl5

20. Suggest a reason why HF is a weak acid, wheres binary acids

of the all other halogens are strong acids.

View Text Solution

21. Deduce the oxidation number of oxygen in hypofluorous

acid .

View Text Solution

−HOF

22. What type of hybridisation occur in (a)  (b) BrF5 BrF3

https://dl.doubtnut.com/l/_Mo5RRslJBYlR
https://dl.doubtnut.com/l/_AIrgqXaYGo8t
https://dl.doubtnut.com/l/_ltd58J5ym5Rl
https://dl.doubtnut.com/l/_xGsiv51pqjbb


View Text Solution

23. Complete the following reactions. 

1.  


2.  


3.  


4.  


5.  


6.  


7.  


8.  


9.  


10.  


11.  


12.  


13.  


NaCl + MnO2 + H2SO4 →

NaNO2 + Hcl →

IO−
3 + I − + H + →

I2 + S2O
2 −
3 →

P4 + NaOH + H2O →

AgNO3 + PH3 →

Mg + HNO3 →

KClO3

Δ
−−→

Cu + Hot Conc.H2SO4 →

Sb + Cl2 →

HBr + H2SO4 →

XeF6 + H2O →

XeO4 −
6 + Mn2 + + H + →

https://dl.doubtnut.com/l/_xGsiv51pqjbb
https://dl.doubtnut.com/l/_Ed9ANvcimJrd


Additional Questions I Choose The Best Answer

14.  


15. 

View Text Solution

XeOF4 + SiO2 →

Xe + F2

Ni/ 200 atm
−−−−−−→

400 ∘C

1. About  of earth atmosphere contains, ……………… .

A. P

B. As

C. N

D. Bi

Answer: C

Watch Video Solution

78 %

https://dl.doubtnut.com/l/_Ed9ANvcimJrd
https://dl.doubtnut.com/l/_vdGJVdnvaFBJ


2. Which one of the following is not a pnictogens?

A. Nitrogen

B. Oxygen

C. Phosphorous

D. Antimony

Answer: B

View Text Solution

3. Which one of the following shows isotopes?

A. Nitrogen

B. Arsenic

https://dl.doubtnut.com/l/_vdGJVdnvaFBJ
https://dl.doubtnut.com/l/_SURReaZwmtkN
https://dl.doubtnut.com/l/_6BKfpBFM6wSa


C. Antimony

D. Bismuth

Answer: A

View Text Solution

4. Nitrogen gas in atmosphere is separated industrially from

liquid air by ………………. .

A. simple distillation

B. Fractional distillation

C. Sublimation

D. Distillation under reduced pressure

Answer: B

https://dl.doubtnut.com/l/_6BKfpBFM6wSa
https://dl.doubtnut.com/l/_Sz2oC53LCHmJ


View Text Solution

5. Bond order for nitrogen molecular is ………………. .

A. 1

B. 2

C. 3

D. 0

Answer: C

View Text Solution

6. Nitrogen gas is, ……………….. .

A. Inert

https://dl.doubtnut.com/l/_Sz2oC53LCHmJ
https://dl.doubtnut.com/l/_DbkTVvo4IPQA
https://dl.doubtnut.com/l/_axwV7NjSj8WA


B. Noble

C. More reactive

D. Less reactive

Answer: A

View Text Solution

7. Which one of the following is used is cryosurgery?

A. 

B. 

C. 

D. 

Answer: A

LiqN2

LiqNH3

LiqNa

LiqH2

https://dl.doubtnut.com/l/_axwV7NjSj8WA
https://dl.doubtnut.com/l/_mApHz4Dsrb3i


View Text Solution

8. The dielectric constant of ammonia is (K ) …………….. .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

10− 30

10− 14

1030

1014

9. When ammonia reacts with copper sulphate solution to give

complex, the colour of complex is, ……………….. .

https://dl.doubtnut.com/l/_mApHz4Dsrb3i
https://dl.doubtnut.com/l/_2iPYi3x34Qlw
https://dl.doubtnut.com/l/_iBZwXIPHO28B


A. voilet

B. deep blue

C. blue

D. Red

Answer: B

View Text Solution

10.  bond angle in  is ……………. .

A. 

B. 

C. 

D. 

H − N − H NH3

109∘ 28'

107∘ 28'

104∘

107∘

https://dl.doubtnut.com/l/_iBZwXIPHO28B
https://dl.doubtnut.com/l/_rfHigzz7ZYPc


Answer: D

View Text Solution

11. Shape of ammonia is ………………. .

A. Planar

B. Square planar

C. Pyramidal

D. Square pyramidal

Answer: C

View Text Solution

12. Nitric acid prepared in large scales using, ……………… .

https://dl.doubtnut.com/l/_rfHigzz7ZYPc
https://dl.doubtnut.com/l/_WGlzuNrovdeU
https://dl.doubtnut.com/l/_2UuZnmnv9l0F


A. Ostwald's process

B. Haber's process

C. Contact process

D. Deacon's process

Answer: A

View Text Solution

13. Benzene undergoes nitration reaction to form nitrobenzene

in this reaction takes place due to the formation of …………….. .

A. Hydronium ion

B. Hydride ion

C. Nitronium ion

https://dl.doubtnut.com/l/_2UuZnmnv9l0F
https://dl.doubtnut.com/l/_NkwVOsH0rJaz


D. Nitrasonium ion

Answer: C

View Text Solution

14. Oxidation state of N in  is ………………….. .

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

HNO3

+2

+3

+4

+5

https://dl.doubtnut.com/l/_NkwVOsH0rJaz
https://dl.doubtnut.com/l/_CT8TNf6gJpDe
https://dl.doubtnut.com/l/_QccnaaZp60xX


15. Compound used in photography is ………………… .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

AgNO3

AgBr

AgCl

AgI

16. Sodium nitrate used in …………….. .

A. Photography

B. Firearms

C. Royal water

https://dl.doubtnut.com/l/_QccnaaZp60xX
https://dl.doubtnut.com/l/_PPqKiqQK3zQ2


D. Cryosurgery

Answer: B

View Text Solution

17. Nitrogen sesquoxide colour is ……………….. .

A. colourless

B. Brown

C. Blue

D. Red

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_PPqKiqQK3zQ2
https://dl.doubtnut.com/l/_JTVa7iPKfqG8
https://dl.doubtnut.com/l/_xIuljgt8kG9T


18. White phosphorous is also called as, ……………… .

A. Red phsophorous

B. Black phosphorous

C. Scarlest phosphorous

D. Yellow phosphorous

Answer: D

View Text Solution

19. White (yellow) phosphorous glows in the dark due to

oxidation which is called, …………… .

A. phosphorescence phosphorus

B. phosphorus

https://dl.doubtnut.com/l/_xIuljgt8kG9T
https://dl.doubtnut.com/l/_QXMaMnvtl4vp


C. Fluorescence

D. Liminoscence

Answer: A

View Text Solution

20. Yellow phsophorus reats alkali on boiling in an inert

atmosphere liberates ………………… .

A. Phosphorous acid

B. Phosphoric acid

C. Phosphine

D. Pyrophosphoric acid

Answer: C

https://dl.doubtnut.com/l/_QXMaMnvtl4vp
https://dl.doubtnut.com/l/_bVsYoqM5UCj9


View Text Solution

21. Consider the following statements. 

(i) phosphine is the most important hydride of phosphorous 

(ii) phosphine is a poisonoous gas with rotten egg small. 

(iii) phosphine is a powerful reducing agent 

Which of the above statement(s) is/are correct?

A. (i) and (ii)

B. (ii) and (iii)

C. (i) and (iii)

D. (ii) only

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_bVsYoqM5UCj9
https://dl.doubtnut.com/l/_rmo0TVPYjJYA


22. When phosphine is heated with air it burns to gives, ………….. .

A. Orthophosphoric acid

B. Metaphosphoric acid

C. Pyrophosphoric acid

D. Phosphoroustrioxide

Answer: B

View Text Solution

23. Hybridisation of P in phosphine is, ……………….. .

A. 

B. 

sp3d

sp3d2

https://dl.doubtnut.com/l/_6BWWN4qn2Y7d
https://dl.doubtnut.com/l/_8i4ER8Gzz8sm


C. 

D. 

Answer: D

View Text Solution

sp3d3

sp3

24. Compounds used in Holme's signal are ……………… .

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Phosphine+Acetylene

H3PO3 + H3PO4

Calcium carbide+calcium phosphide

Calcium carbonate+calcium phosphate

https://dl.doubtnut.com/l/_8i4ER8Gzz8sm
https://dl.doubtnut.com/l/_eWKCo8NfX5qg


25. Chalgogens are also called as ……………… .

A. Ore forming elements

B. Group -16 elements

C. group 17 elements

D. Both (a) and (b)

Answer: D

View Text Solution

26. Element present in the volcanic ashes is ………………. .

A. Oxygen

B. Sulphur

https://dl.doubtnut.com/l/_eWKCo8NfX5qg
https://dl.doubtnut.com/l/_BpTyhb97XXUY
https://dl.doubtnut.com/l/_EYbzhcFLkk6t


C. Selenium

D. Tellurium

Answer: B

View Text Solution

27. The decompostion of potassium chlorate speed up in the

presence of …………… .

A. 

B. 

C. 

D. 

Answer: A

MnO2

Mn3O4

MnSO4

KMnO4

https://dl.doubtnut.com/l/_EYbzhcFLkk6t
https://dl.doubtnut.com/l/_OVQv2gecywku


View Text Solution

28. Pure ozone is ………………. .

A. yellow gas

B. blue gas

C. Pale blue gas

D. bright blue gas

Answer: C

View Text Solution

29. Shape of ozone, …………………. .

A. V - shape

https://dl.doubtnut.com/l/_OVQv2gecywku
https://dl.doubtnut.com/l/_6ZvtxCJRoDXL
https://dl.doubtnut.com/l/_KfMslJhmv3cG


B. Linear shape

C. bent shape

D. spherical shape

Answer: C

View Text Solution

30. The rate of decompostion of ozone drops sharply in ………… .

A. acidic medium

B. alkaline medium

C. neutral medium

D. Ether medium

Answer: B

https://dl.doubtnut.com/l/_KfMslJhmv3cG
https://dl.doubtnut.com/l/_Lod15ZG5L6AU


View Text Solution

31. Which one of the following used as fuel in rockets?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

LiqO2

LiqCO2

LiqN2

LiqHe − O2

32. Find out crystalline allotrophic form of sulphur?

A.  sulphurγ −

https://dl.doubtnut.com/l/_Lod15ZG5L6AU
https://dl.doubtnut.com/l/_M6HjhG7zONBs
https://dl.doubtnut.com/l/_m8rJsd5CjQXf


B.  sulphur

C.  sulphur

D. milk of sulphur

Answer: C

View Text Solution

λ −

α −

33. Consider the following statements 

(i)  sulphur is the only thermodynamically stable

allotrophic form. 

(ii) At  the mono clinic sulphur melts to form mobile pale

yellow liquid called  sulphur 


(iii) Monoclinic sulphur is stable between  and

slowly changes into sulphur 


Which of the above statement(s) is/are not correct?

α −

140∘C

γ −

96∘C − 119∘C

λ −

https://dl.doubtnut.com/l/_m8rJsd5CjQXf
https://dl.doubtnut.com/l/_CTFTHNgAZTlQ


A. (i) only

B. (ii) only

C. (iii) only

D. (ii) and (iii)

Answer: D

View Text Solution

34. Sulphur di oxide, how many times heavier than air?

A. 2 times

B. 2.5 times

C. 2.2 times

D. 2.3 times

https://dl.doubtnut.com/l/_CTFTHNgAZTlQ
https://dl.doubtnut.com/l/_uO054cwxdAUy


Answer: C

View Text Solution

35. Which one of following has temporary bleaching action?

A. Chlorine

B. 

C. 

D. 

Answer: D

View Text Solution

SO3

H2SO4

SO2

36. Sulphuric acid can be manufactured by ………………… .

https://dl.doubtnut.com/l/_uO054cwxdAUy
https://dl.doubtnut.com/l/_AWAlEFkEy53W
https://dl.doubtnut.com/l/_kwVFbxaMNN5J


A. Ostwald's process

B. Lead chamber process

C. Deacon's process

D. Haber's process

Answer: B

View Text Solution

37. Sulphuric acid is manufactured by contact process, catalyst

used in contact process is, ……………. .

A. 

B. 

C. 

V2O5

TiCl4

Fe

https://dl.doubtnut.com/l/_kwVFbxaMNN5J
https://dl.doubtnut.com/l/_dYGz8EnUXcHO


D. 

Answer: C

View Text Solution

Mo

38. Benzene reacts with sulphuric acid to gives, …………………… .

A. sulphate

B. sulphide

C. sulphonic acid

D. sulphite

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_dYGz8EnUXcHO
https://dl.doubtnut.com/l/_Sj3MWb0dQpTi
https://dl.doubtnut.com/l/_TViH67wArF1B


39. Reagent used tp detect sulphate ion is ……………… .

A. 

B. 

C. 

D. Both (a) and (c )

Answer: D

View Text Solution

BaCl2

BaSO4

(CH3COO)2Pb

40. Deacon's process is used to manufacture …………. .

A. 

B. 

C. 

Cl2

F2

Br2

https://dl.doubtnut.com/l/_TViH67wArF1B
https://dl.doubtnut.com/l/_rCOIGrNFSVxc


D. 

Answer: A

View Text Solution

I2

41. Catalyst used in Deacon's process is …………………….. .

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

CuCl2

Cu2Cl2

CuBr2

Cu2Br2

https://dl.doubtnut.com/l/_rCOIGrNFSVxc
https://dl.doubtnut.com/l/_sbhgvrwc005d
https://dl.doubtnut.com/l/_wEZ9YlijSlVK


42.  Identify A?

A. Methane

B. Ethane

C. Carbon

D. Propane

Answer: C

View Text Solution

C10H16 + 8Cl2
Δ

−−→ A.

43. Passing chlorine gas through dry slaked lime to produce

…………………… .

A. 

B. 

CaOCl

CaOCl2

https://dl.doubtnut.com/l/_wEZ9YlijSlVK
https://dl.doubtnut.com/l/_j4foYvYxk8Hf


C. 

D. 

Answer: B

View Text Solution

CaO

CaCl2

44. Which one of the following is used for purification of

drinking water?

A. 

B. 

C. 

D. 

Answer: D

SO3

SO2

Br2 /H2O

Cl2

https://dl.doubtnut.com/l/_j4foYvYxk8Hf
https://dl.doubtnut.com/l/_c3NjqppguQwF


View Text Solution

45. Which one of the following is a weak acid?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

HF

HCl

HBr

HI

46. Reagent not stored in glass bottles?

A. HCl

https://dl.doubtnut.com/l/_c3NjqppguQwF
https://dl.doubtnut.com/l/_wlUTAtJHjo3i
https://dl.doubtnut.com/l/_TN5NfSZXC0rC


B. 

C. 

D. 

Answer: A

View Text Solution

HBr

HF

HI

47. More reactive element is ………………….. .

A. Fluorine

B. Chlorine

C. Bromine

D. Iodine

Answer: A

https://dl.doubtnut.com/l/_TN5NfSZXC0rC
https://dl.doubtnut.com/l/_NvZF4CwbftQI


View Text Solution

48. The correct order of the acidity of hydrohalic acids?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

HF > HCl > HBr > HI

HCl > HF > HBr > HI

HBr > HCl > HF > HI

HI > HBr > HCl > HF

49. Consider the following statements 

(i) In interhalogaen compounds the central atom will be smaller

https://dl.doubtnut.com/l/_NvZF4CwbftQI
https://dl.doubtnut.com/l/_W60s3Ncjv5U4
https://dl.doubtnut.com/l/_bLI8otjZEuvm


one. 

(ii) It can be formed only between two halogen and not more

than two halogens. 

(iii) They are strong reducing agents. 

Which of the above statement(s) is/are not correct?

A. (i) only

B. (ii) and (iii)

C. (i) and (iii)

D. (iii) only

Answer: C

View Text Solution

50. Shape of  is ………………. .ClF3

https://dl.doubtnut.com/l/_bLI8otjZEuvm
https://dl.doubtnut.com/l/_qf720RV3aDLP


A. Linear

B. T - shape

C. Pyrimidal

D. Square planar

Answer: B

View Text Solution

51. Which one of the following is more acidic ?

A. 

B. 

C. 

D. 

HOCl

HClO2

HClO3

HClO4

https://dl.doubtnut.com/l/_qf720RV3aDLP
https://dl.doubtnut.com/l/_rANEYuvixZRr


Answer: D

View Text Solution

52. When  reacts with 2.5 M NaOH gives, …………….. .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

XeF6

Na4XeO6

Na2XeO3

XeO2F2

XeO3

53. Shape of  reacts with 2.5 M  gives, ……………… .XeF6 NaOH

https://dl.doubtnut.com/l/_rANEYuvixZRr
https://dl.doubtnut.com/l/_yaIlS2NShgHn
https://dl.doubtnut.com/l/_fRxxCSo0u5MZ


A. Octahedron

B. Distorted octahedron

C. Pyramidal

D. Tetrahedron

Answer: B

View Text Solution

54. Which one of the following can penetrate through dense

fog?

A. 

B. 

C. 

He

Ne

Kr

https://dl.doubtnut.com/l/_fRxxCSo0u5MZ
https://dl.doubtnut.com/l/_04LsltLJkezy


D. 

Answer: C

View Text Solution

Rn

55. Find out radioactive element?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

He

Rn

Xe

Ar

https://dl.doubtnut.com/l/_04LsltLJkezy
https://dl.doubtnut.com/l/_MG1ok6uvHJKL


Additional Questions Ii Fill In The Blanks

1. The  most abundant element is ……………… .

View Text Solution

11th

2. ……………….is the principle gas of atmosphere

View Text Solution

3. ……………is used for the manufacture of calcium cyanamide

View Text Solution

4. Ammonia acts as a …………….agent.

https://dl.doubtnut.com/l/_vAIKtNeLzHx7
https://dl.doubtnut.com/l/_MYhgT4tDeKEZ
https://dl.doubtnut.com/l/_MWytdGJtxnjt
https://dl.doubtnut.com/l/_8x83NCEkrdMa


View Text Solution

5. With excess of chlorine, ammonia reacts to give ………………..an

explosive substance.

View Text Solution

6. When excess ammonia is added to aqueous solution of

copper sulphate ……………colour compound is formed.

View Text Solution

7. ……………is used in gunpower for firearms.

View Text Solution

https://dl.doubtnut.com/l/_8x83NCEkrdMa
https://dl.doubtnut.com/l/_fpudmxe5YfG8
https://dl.doubtnut.com/l/_ntpzD1aeq0tV
https://dl.doubtnut.com/l/_YofzDPL4iaZe
https://dl.doubtnut.com/l/_KO04Rg8b1eIb


8. The decomposition of ammonium nitrate gives …………………

View Text Solution

9. White phosphorous is colourless but becomes pale yellow

due to formation of a …………….upon standing.

View Text Solution

10. The white phosphorous can be changed into ………..by heated

it to  in the absence of air aned light.

View Text Solution

420∘C

https://dl.doubtnut.com/l/_KO04Rg8b1eIb
https://dl.doubtnut.com/l/_UYHxkIdOPw5E
https://dl.doubtnut.com/l/_jSkeV9CRxExv


11. …………….reacts with alkali on boiling in an inert atmosphere

liberating phosphine.

View Text Solution

12. …………..is used in the match boxes.

View Text Solution

13. Phosphine is …………….smelling gas.

View Text Solution

14. Phosphine has a …………….shape.

View Text Solution

https://dl.doubtnut.com/l/_RG0Er028lSzN
https://dl.doubtnut.com/l/_n85wiCCY4zwi
https://dl.doubtnut.com/l/_FenpjxJRgtsa
https://dl.doubtnut.com/l/_mkzpTurgFFai


15. ……………is used for producing smoke screen.

View Text Solution

16. When phosphorous trichloridie is hydrolysed with cold

water it gives ……………..

View Text Solution

17. Elements belonging group 16 are called …………….. .

View Text Solution

18. Under ordinary condition oxygen exists as a ……………gas.

https://dl.doubtnut.com/l/_mkzpTurgFFai
https://dl.doubtnut.com/l/_NYoz51cTlU90
https://dl.doubtnut.com/l/_7yTy2S9soIr2
https://dl.doubtnut.com/l/_oSOpoWhQe3G2
https://dl.doubtnut.com/l/_jnq35zfhFMTW


View Text Solution

19. Allotrophic form of oxygen is ……………..and ………………. .

View Text Solution

20. Pure ozone is ……………gas.

View Text Solution

21. ………….is used in welding purpose.

View Text Solution

https://dl.doubtnut.com/l/_jnq35zfhFMTW
https://dl.doubtnut.com/l/_bBctirbt5lyM
https://dl.doubtnut.com/l/_UzsM9uGt98pr
https://dl.doubtnut.com/l/_4iGKQam2TYuR


22. Monoclinic sulphur is stable between  and  and

slowly changes into ………..

View Text Solution

96∘ 119∘C

23. …………….gas is found in volcanic eruptions.

View Text Solution

24. A large amount of …………….gas is released into atmosphere

from plants used coal and oil and copper melting plants.

View Text Solution

25. Sulphurdioxide gas has ……………..odour.

https://dl.doubtnut.com/l/_W4YaeWE3aaNw
https://dl.doubtnut.com/l/_ZPh0pFNNoEc0
https://dl.doubtnut.com/l/_GUTwbJJ886wJ
https://dl.doubtnut.com/l/_ZUKNbVPKFDOa


View Text Solution

26. Sullphurdioxide can be used for …………….and…………….in

agriculture.

View Text Solution

27. In  atoms undergoes ………..hybridisation.

View Text Solution

SO3, ZX −

28. In , a double bond arises between S and O is due to

…………………overlapping.

View Text Solution

SO3

https://dl.doubtnut.com/l/_ZUKNbVPKFDOa
https://dl.doubtnut.com/l/_TM0UfIZB7CKm
https://dl.doubtnut.com/l/_szc6r0gt4f8T
https://dl.doubtnut.com/l/_5AbVLY3S5Q22


29. High boiling point and viscosity of sulphuric acid is due to

…………….. .

View Text Solution

30. ……….is used as a drying agent.

View Text Solution

31. The main source of fluorine is ……………. .

View Text Solution

32. The main source of chlorine is ……………… .

View Text Solution

https://dl.doubtnut.com/l/_MTjQT2prx2fh
https://dl.doubtnut.com/l/_SEusXNq7fuJ6
https://dl.doubtnut.com/l/_V6QaGIpiciK6
https://dl.doubtnut.com/l/_qpj7330hAS8n


33. Chlorine is a ……………gas.

View Text Solution

34. Chlorine is soluble in water and its solution is refered as

………….. .

View Text Solution

35. ……………….is produced by passing chlorine gas through dry

slaked lime.

View Text Solution

https://dl.doubtnut.com/l/_qpj7330hAS8n
https://dl.doubtnut.com/l/_u4e6ArTBKAiL
https://dl.doubtnut.com/l/_672YVVF1pwdg
https://dl.doubtnut.com/l/_vSNra5SB4oYb


36. ……………..is used in extraction of gold and platnium.

View Text Solution

37. ……………….is used for extraction of glue from bone.

View Text Solution

38. At room temperature, hydrogen halides are gases but

……………..can be readily liquefied.

View Text Solution

39. Liberation of iodine which gives a …………….colouration with

starch.

https://dl.doubtnut.com/l/_h51VDYdL2Q2x
https://dl.doubtnut.com/l/_J4eDhLI1Vv1i
https://dl.doubtnut.com/l/_aEfQbnMbykIC
https://dl.doubtnut.com/l/_fCjEOPMBeN2B


View Text Solution

40. Each halogen combines with other halogens to form a

series of compounds called …………………

View Text Solution

41. Structure of  type is ………………. .

View Text Solution

AX7

42. Xenon reacts with  and gave an …………………… .

View Text Solution

PtF6

https://dl.doubtnut.com/l/_fCjEOPMBeN2B
https://dl.doubtnut.com/l/_2hGdHhXeeDV5
https://dl.doubtnut.com/l/_XWDQv3kA6fsG
https://dl.doubtnut.com/l/_uF6TemsbTsLf


43. Kr and fluorine gases are irradiated with  it forms

……………. .

View Text Solution

SbF5

44. Shape of  is ……………… .

View Text Solution

XeOF4

45. Helium used for filling air ……………….. .

View Text Solution

46. ………………element subtimes at 889 K.

View Text Solution

https://dl.doubtnut.com/l/_URQ6Dwcqu86X
https://dl.doubtnut.com/l/_RopyqWtVd5fU
https://dl.doubtnut.com/l/_vWFQN27TEdLo
https://dl.doubtnut.com/l/_e78Na5zu2oUP


Additional Questions Iii Match The Following

1. 

View Text Solution

(i) Haber's process (a)HNO3

(ii) Deacon's process (b)  Ammonia

(iii) Contact process (c ) Chlorine

(iv) Ostwald's process (d)H2SO4

2. 

View Text Solution

(i) Nitric acid (a) Purification of bone black

(ii) HCl (b) Photography

(iii) White (yellow) phosphorous (c ) Rotten fish smell

(iv) Phosphine (d) Phosphorescence

https://dl.doubtnut.com/l/_e78Na5zu2oUP
https://dl.doubtnut.com/l/_5MXUxA3HoTsr
https://dl.doubtnut.com/l/_FWDv7zUfNDdA


3. 

View Text Solution

(i) Nitrogen sesquoxide (a)H2N2O2

(ii) Nitrous oxide (b)H4N2O4

(iii) Hyponitrous acid (c)N2O

(iv) Hydronitrous acid (d)N2O3

4. 

View Text Solution

(i)N2O (a) + 5

(ii)N2O4 (b) + 3

(iii)N2O5 (c) + 1

(iv)N2O3 (d) + 4

5. 

View Text Solution

(i) White phosphorous (a) Volcanic eruptions

(ii) Red phosphorous (b) Yellow phosphorous

(iii) Phosphine (c )Match boxes

(iv) SO2 (d) smoke screen

https://dl.doubtnut.com/l/_j3eV4KRjpdeY
https://dl.doubtnut.com/l/_n8npHY9tWrTX
https://dl.doubtnut.com/l/_PSBGg2hgHPmD


6. 

View Text Solution

(i) ammonia (a) suffocating odour

(ii)SO2 (b) Rotten fish smell

(iii)PH3 (c ) Greenish yellow gas

(iv)Cl2 (d ) pungent smelling gas

7. 

View Text Solution

(i)XeF4 (a)sp3

(ii)XeOF2 (b)sp3d2

(iii)XeO3 (c)sp3d3

(iv)XeF6 (d)sp3d

8. 

View Text Solution

(i) Helium (a) flash bulbs

(ii) Neon (b) radioactive

(iii) Krypion (c ) air balloons

(iv) Radon (d) Brilliant red glow

https://dl.doubtnut.com/l/_pypX86R8twnf
https://dl.doubtnut.com/l/_QFng9AUt83cS
https://dl.doubtnut.com/l/_PB1NzfX6IthR


Additional Questions Iv Assertion And Reason

1. Assertion (A) : Xenon is used in high speed electronic flash

bubls used by photographers. 

Reason (R ): Xenon emits an intense light in discharge tubes

instantly.

A. A are R are correct and R explains A

B. A and R are correct but doesn't explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_EkS5fCfHuquH


2. Assertion (A) : Noble gases have the largest ionisation energy

compared to any other elements. 

Reason (R ) : Noble gases have incomplete filled orbital.

A. A are R are correct and R explains A

B. A and R are correct but doesn't explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: C

View Text Solution

3. Assertion (A) : Hydrogen iodide decomposes at  while

hydrogen fluoride and hyrogen chloride are stable at this

400∘C

https://dl.doubtnut.com/l/_ezmxYsAuRMzg
https://dl.doubtnut.com/l/_VJKSvSfAiyf9


temperature. 

Reason (R ) : Thermal stability of hydrogen halides decreases

from fluoride to iodide.

A. A are R are correct and R explains A

B. A and R are correct but doesn't explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

4. Assertion (A) : The bleaching of chlorine is temporary. 

Reason (R ) : Chlorine oxidises ferrous salts to ferric salts.

A. A are R are correct and R explains A

https://dl.doubtnut.com/l/_VJKSvSfAiyf9
https://dl.doubtnut.com/l/_nNePoqQ8zDzr


B. A and R are correct but doesn't explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: D

View Text Solution

5. Assertion (A) : Sulphuric acid is highly reactive. 

Reason (R ) : Sulphuric acid can act as strong acid and an

oxidising agent.

A. A are R are correct and R explains A

B. A and R are correct but doesn't explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

https://dl.doubtnut.com/l/_nNePoqQ8zDzr
https://dl.doubtnut.com/l/_qlbWT3kYxfmK


Answer: B

View Text Solution

6. Assertion (A) : Sulphuric acid is a high boiling point and

viscous liquid. 

Reason (R ) : This is due to the association of molecules

together hydrogen bonding.

A. A are R are correct and R explains A

B. A and R are correct but doesn't explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_qlbWT3kYxfmK
https://dl.doubtnut.com/l/_bBHeL9SPxE2A


7. Assertion (A) : Monoclinic sulphur is less stable than

rhomobic sulphur. 

Reason (R ) : Monoclinic sulphur is stable between

 and slowly changes into rhombic sulphur.

A. A are R are correct and R explains A

B. A and R are correct but doesn't explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

96∘C − 119∘C

https://dl.doubtnut.com/l/_bBHeL9SPxE2A
https://dl.doubtnut.com/l/_YCmXa2pHsOkt


Additional Questions V Find The Odd One Out

8. Assertion (A) : Nitrogen gas is chemically inert. 

Reason (R ) : Nitrogen has low bonding energy.

A. A are R are correct and R explains A

B. A and R are correct but doesn't explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: C

View Text Solution

1. Find the odd one out

https://dl.doubtnut.com/l/_TStZX8Jhbd3L
https://dl.doubtnut.com/l/_vpLfGMBM51KV


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

NO

HNO3

NO2

N2O

2. Find the odd one out

A. Nitrous acid

B. Nitric acid

C. Hyponitrous acid

D. Pernitrous acid

https://dl.doubtnut.com/l/_vpLfGMBM51KV
https://dl.doubtnut.com/l/_y3KPVqCDKaDg


Answer: D

View Text Solution

3. Find the odd one out

A. White phosphorous

B. Red phosphorous

C. phosphorous pentaoxide

D. black phosphorous

Answer: C

View Text Solution

4. Find the odd one out

https://dl.doubtnut.com/l/_y3KPVqCDKaDg
https://dl.doubtnut.com/l/_VLBEO1EjnCgR
https://dl.doubtnut.com/l/_Gf9ebuV55Gda


A. - Holme's signal

B. 

C. 

D. 

Answer: A

View Text Solution

PH3

HPO3

H3PO3

H3PO4

5. Find the odd one out

A. 

B. 

C. 

D. 

He

Ne

Ar

Xe

https://dl.doubtnut.com/l/_Gf9ebuV55Gda
https://dl.doubtnut.com/l/_9vlDWUa1k5fO


Additional Questions Vi Find Out The Correct Pair

Answer: D

View Text Solution

1. Find out the correct pair.

A. Helium - filament bulbs

B. Krypton - prevent bonds

C. Xenon - Lasers

D. Radon - flash bulbs

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_9vlDWUa1k5fO
https://dl.doubtnut.com/l/_tJ6KC2eKWHBp


2. Find out the correct pair.

A. Ra - gamma rays

B. Xe - cancer growth

C. Ne - balloons

D. Kr - advertisement bulb

Answer: A

View Text Solution

3. Find out the correct pair.

A. 

B. 

ClF3 − Linear

BrF5 − T - shaped

https://dl.doubtnut.com/l/_u1eXb34VFVuO
https://dl.doubtnut.com/l/_CgY3aOSQrzMM


C. 

D. 

Answer: D

View Text Solution

IF4 − square pyrimidal

BrF5 − square pyrimidal

4. Find out the correct pair.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

XeOF2 − sp3

XeF6 − sp3d3

XeF4 − sp3

XeOF4 − sp3d

https://dl.doubtnut.com/l/_CgY3aOSQrzMM
https://dl.doubtnut.com/l/_kZGs3cvHDwu1


5. Find out the correct pair.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

OF2 = − 1

Cl4O4 = − 1

I2O4 = − 1

I2O9 = − 1

6. Find out the correct pair.

A. Royal water - Dissolving gold

B. Chlorine - Entraction of glue from bone

https://dl.doubtnut.com/l/_kZGs3cvHDwu1
https://dl.doubtnut.com/l/_aB3Pn0EEsYAr
https://dl.doubtnut.com/l/_yHSpnEZ6SjK6


C. HCl - Extrqaction of gold

D. Chlorine - Temporary bleaching

Answer: A

View Text Solution

7. Find out the correct pair.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

O − 2s2sp3

S − 3s23p4

Se − 4d105s25p4

Te − 3d104s24p4

https://dl.doubtnut.com/l/_yHSpnEZ6SjK6
https://dl.doubtnut.com/l/_0lkGpwBZ3HaQ


Additional Questions Vii Find Out The Incorrect Pair

1. Find out the incorrect pair.

A. Nitrogen gas - inert

B. Ammonia - pungent smelling gas

C. Nitric acid - oxidizing agent

D. Phosphine - rotten egg smell

Answer: D

View Text Solution

2. Find out the incorrect pair.

https://dl.doubtnut.com/l/_0lkGpwBZ3HaQ
https://dl.doubtnut.com/l/_qbTjC2tPgnbi
https://dl.doubtnut.com/l/_BNr1gjCpVXOu


A. Liquid nitrogen - biological preservation

B. Nitric acid - photography

C. white phosphorous - yellow phosphorous

D. phosphorous - welding

Answer: D

View Text Solution

3. Find out the incorrect pair.

A. 

B. 

C. 

D. 

N2O = + 1

N2O = + 2

N2O3 = + 5

NO2 = + 4

https://dl.doubtnut.com/l/_BNr1gjCpVXOu
https://dl.doubtnut.com/l/_IhwzMBWHwg95


Answer: C

View Text Solution

4. Find out the incorrect pair.

A. Hyponitrous acid 

B. Nitrous acid -

C. pernitric acid 

D. pernitrous acid 

Answer: A

View Text Solution

−N2O

HNO2

−HNO4

−HOONO

5. Find out the incorrect pair.

https://dl.doubtnut.com/l/_IhwzMBWHwg95
https://dl.doubtnut.com/l/_09mfXFmbUoEM
https://dl.doubtnut.com/l/_tixDHUbCEH5T


A. - Holme's signal

B.  welding

C.  Disinfecting crops

D.  Bleaching hair

Answer: C

View Text Solution

PH3

O2 −

H2SO4 −

SO3 −

6. Find out the incorrect pair.

A.  drying agent

B. Chlorine - Deacon's process

C.  purification of bone black

D. Helium - flash bulbs

H2SO4 −

HCl −

https://dl.doubtnut.com/l/_tixDHUbCEH5T
https://dl.doubtnut.com/l/_Ssi4wELjYMAE


Answer: D

View Text Solution

7. Find out the incorrect pair.

A.  Linear

B. - T shape

C.  pentagonal bipyramidal

D.  pentagonal bipyramidal

Answer: C

View Text Solution

ICl −

ClF3

IF5 −

IF7 −

8. Find out the incorrect pair.

https://dl.doubtnut.com/l/_Ssi4wELjYMAE
https://dl.doubtnut.com/l/_48xtr80m7H4x
https://dl.doubtnut.com/l/_Mt3JrKcGLzPp


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

HOCl = + 2

HOCl = + 3

HOCl = + 5

HOCl4 = + 7

9. Find out the incorrect pair.

A. 

B. 

C. 

D. 

XeF4 + sp3d2

XeF6 − sp3d3

XeOF4 − sp3d2

XeO3 − sp3d

https://dl.doubtnut.com/l/_Mt3JrKcGLzPp
https://dl.doubtnut.com/l/_buDVWf8QEI1b


Additional Questions 2 Mark Questions

Answer: D

View Text Solution

10. Find out the incorrect pair.

A. He - cryogenics

B. Ne - advertisement

C. Kr - flurescent bulbs

D. Ra - Lasers.

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_buDVWf8QEI1b
https://dl.doubtnut.com/l/_C7969GuxL430


1. What are pnictogens?

View Text Solution

2. What happens when sodium azide undergoes thermal

decomposition?

View Text Solution

3. How will you prepare ammonia from nitrogen? And mention

the name of process?

View Text Solution

4. Why nitrogen gas is chemically inert?

https://dl.doubtnut.com/l/_jn0zuOw3yooZ
https://dl.doubtnut.com/l/_uABCec7ZAiI4
https://dl.doubtnut.com/l/_k1bpxZFTHBND
https://dl.doubtnut.com/l/_QCcMAod0cG13


View Text Solution

5. Mention the uses of nitrogen?

View Text Solution

6. Explain the action of heat on ammonia.

View Text Solution

7. Prove ammonia act as a reducing agent?

View Text Solution

8. What happen when copper sulphate reacts with ammonia?

https://dl.doubtnut.com/l/_QCcMAod0cG13
https://dl.doubtnut.com/l/_GkpH3Aq5AGgJ
https://dl.doubtnut.com/l/_zLw7XVfXj88z
https://dl.doubtnut.com/l/_B83imD8FgFfy
https://dl.doubtnut.com/l/_iOfLzBQpnLjd


View Text Solution

9. Pure nitric acid is colourless, on standing it becomes yellow.

Justify your answer.

View Text Solution

10. Write the products formed in the reaction of nitric acid with

dilute and concentrated with magnesium.

View Text Solution

11. Give the uses of nitric acid.

View Text Solution

https://dl.doubtnut.com/l/_iOfLzBQpnLjd
https://dl.doubtnut.com/l/_Qi6CzLyF9j0R
https://dl.doubtnut.com/l/_Xah7ATJ1fJKL
https://dl.doubtnut.com/l/_9D6bWNGuhi2K


12. How will you prepare nitric oxide from sodium nitrite?

View Text Solution

13. How will you prepare nitrogen pentoxide?

View Text Solution

14. Draw the structure of (a)  (b) .

View Text Solution

N2O N2O3

15. Draw the structure of (a)  (b) .

View Text Solution

N2O4 N2O5

https://dl.doubtnut.com/l/_lWXZwqeRoQ6c
https://dl.doubtnut.com/l/_GqEKaXB4OBje
https://dl.doubtnut.com/l/_1TOEmKThGsus
https://dl.doubtnut.com/l/_AtmFVtIn566F


16. Draw the structure of (a) Hyponitrous acid (b) Hydronitrous

acid.

View Text Solution

17. Mention the allotropic forms of phosphorous?

View Text Solution

18. Why white phosphorous is also known as yellow

phosphorous?

View Text Solution

19. What is phosphorescence?

https://dl.doubtnut.com/l/_yqtyXiuLbwBl
https://dl.doubtnut.com/l/_t8Imk3bAHVHG
https://dl.doubtnut.com/l/_6uwK10arAjrF
https://dl.doubtnut.com/l/_jSqGuSJDcnpz


View Text Solution

20. Why white phophorous undergoes spontaneous

combustion in air?

View Text Solution

21. Draw the structure of (a) white phosphorous (b) red

phsphorous

View Text Solution

22. How will you convert red phosphorous into  and 

?

View Text Solution

P2O3 P2O5

https://dl.doubtnut.com/l/_jSqGuSJDcnpz
https://dl.doubtnut.com/l/_uBchDcmQuV9U
https://dl.doubtnut.com/l/_fvIrWCWkMyEO
https://dl.doubtnut.com/l/_3Ud51be8UgSA


23. How will you prepare orthophosphoric acid from

phosphorous?

View Text Solution

24. Mention the uses of phosphorus?

View Text Solution

25. Show that phosphine is weakly basic?

View Text Solution

26. Draw the structure of .PCl3

https://dl.doubtnut.com/l/_3Ud51be8UgSA
https://dl.doubtnut.com/l/_VAVQwa0Q2moy
https://dl.doubtnut.com/l/_gGbQRGCPzGhU
https://dl.doubtnut.com/l/_tsYBM2216nQL
https://dl.doubtnut.com/l/_hQcWPbyAp5iM


View Text Solution

27. How will you preapre  from white phosphorous?

View Text Solution

PCl3

28. What happen when  is treated with cold water?

View Text Solution

PCl3

29. How will you prepare ?

View Text Solution

PCl3

30. Mention the uses of ?PCl3 and PCl5

https://dl.doubtnut.com/l/_hQcWPbyAp5iM
https://dl.doubtnut.com/l/_PYVADoPt0iLz
https://dl.doubtnut.com/l/_JtoFuqGBprjC
https://dl.doubtnut.com/l/_Jq72irWfCqGh
https://dl.doubtnut.com/l/_m6oUpp5z0KMp


View Text Solution

31. Draw the structure of ?

View Text Solution

H3PO2 and H3PO3

32. Draw the structure of ?

View Text Solution

H4P2O6 and H4P2O7

33. Give the method to prepare hypophosphorous acid and

pyrophosphoric acid?

View Text Solution

https://dl.doubtnut.com/l/_m6oUpp5z0KMp
https://dl.doubtnut.com/l/_AqpIncYtDUdu
https://dl.doubtnut.com/l/_m585hELJsNPB
https://dl.doubtnut.com/l/_a0L75P5W1WWs


34. Complete the reactions, 

(i)  


(ii) 

View Text Solution

HgO
Δ

−−→ ?

BaO2

Δ
−−→ ?

35. Give and explain the reaction used to estimation of ozone.

View Text Solution

36. Write a short notes on Rhombic sulphur?

View Text Solution

37. Write a notes on monoclinic sulphur?

https://dl.doubtnut.com/l/_9xannSyVAEWP
https://dl.doubtnut.com/l/_YOh190MIceAO
https://dl.doubtnut.com/l/_64gPJitCvvq4
https://dl.doubtnut.com/l/_6ubgXdPqUgzR


View Text Solution

38. What are  sulphur?

View Text Solution

λ −

39. How will you prepare sulphurdioxide by laboratory method?

View Text Solution

40. Complete the reaction, 

(i)  


(ii) 

View Text Solution

Zns + O2

Δ
−−→ ?

FeS2 + O2

Δ
−−→ ?

https://dl.doubtnut.com/l/_6ubgXdPqUgzR
https://dl.doubtnut.com/l/_kN6f4W1DR212
https://dl.doubtnut.com/l/_MbDeAruIOyji
https://dl.doubtnut.com/l/_pKIUHlSdxsrw


41. What happen when sulphurdioxide reacts with sodium

hydroxide and sodium hydroxide and sodium carbonate?

View Text Solution

42. Mention the uses of sulphurdioxide?

View Text Solution

43. Why sulphuric acid is high boiling and viscous liquid?

View Text Solution

44. Explain the reaction between benzene and sulphuric acid.

View Text Solution

https://dl.doubtnut.com/l/_o28PmR5Ht2PG
https://dl.doubtnut.com/l/_aRb6WRPJwJcM
https://dl.doubtnut.com/l/_DuU85dN3RWKj
https://dl.doubtnut.com/l/_iedggobEmlXH


45. Give the uses of sulphuric acid ?

View Text Solution

46. Draw the structure of ?

View Text Solution

H2SO3 and H2SO4

47. Draw the structure of ?

View Text Solution

H2S2O3 and H2S2O4

48. Draw the structure of (a) Pyrosulphuric acid (b)

Peroromonosulphuric acid?

https://dl.doubtnut.com/l/_iedggobEmlXH
https://dl.doubtnut.com/l/_hCyaR8BXqFdn
https://dl.doubtnut.com/l/_cfIzLy61J5p9
https://dl.doubtnut.com/l/_kQFDfjFDfGaP
https://dl.doubtnut.com/l/_mrNGbNtqtLer


View Text Solution

49. What happen when chlorine reacts with trupentine?

View Text Solution

50. How will you prepare hydrochloric acid by laboratory

method?

View Text Solution

51. Mention the uses of hydrochloric acid ?

View Text Solution

https://dl.doubtnut.com/l/_mrNGbNtqtLer
https://dl.doubtnut.com/l/_uYgA7y38xc72
https://dl.doubtnut.com/l/_uJPFbpkE4bli
https://dl.doubtnut.com/l/_KhrxMODcTvR9


52. Complete the the following reaction? 

(i)  


(ii) 

View Text Solution

BrF5

OH Θ

−−→ ?

ICl
OH Θ

−−→ ?

53. Why noble gases have the largest ionisation energy?

View Text Solution

54. Mention the uses of Neon?

View Text Solution

55. Give the uses of Krypton?

https://dl.doubtnut.com/l/_NHeXhKXiz6pu
https://dl.doubtnut.com/l/_qsNsBOkoAkmq
https://dl.doubtnut.com/l/_PXMayjWpMiMd
https://dl.doubtnut.com/l/_Iz8yKQEd4u4V


View Text Solution

56. Mention the application of Xenon?

View Text Solution

57. Give the uses of Radon?

View Text Solution

58. Why arepentahalides more covalent than trihalides?

View Text Solution

59. Why is  less reactive at room temperature?N2

https://dl.doubtnut.com/l/_Iz8yKQEd4u4V
https://dl.doubtnut.com/l/_BNsHObnnGGdV
https://dl.doubtnut.com/l/_EuxrjvKWZtz8
https://dl.doubtnut.com/l/_Q8tKYc39pfET
https://dl.doubtnut.com/l/_iMIG1mLGcCJF


View Text Solution

60. Why is  more reactive than ?

View Text Solution

ICl I2

61. Why is helium used in dividing apparatus?

View Text Solution

62. Give the disproportionation reaction of ?

View Text Solution

H3PO3

https://dl.doubtnut.com/l/_iMIG1mLGcCJF
https://dl.doubtnut.com/l/_YyuWQSd0HvyZ
https://dl.doubtnut.com/l/_6SAh2hKoQjzm
https://dl.doubtnut.com/l/_WfNC7bb2G4jU


63. Why is red Phosphorus less reactive than white

Phosphorus?

View Text Solution

64. Nitrogen does not form any pentahalide like Phosphorus.

Why?

View Text Solution

65. Give reason for the following. Among the noble gases only

Xenon is well known to form chemical compounds?

View Text Solution

https://dl.doubtnut.com/l/_HeGQu0QovDx5
https://dl.doubtnut.com/l/_NZw04L3Qv3tq
https://dl.doubtnut.com/l/_73WWfy5QxfGE


66. Why is hydrogen sulphide, with greater molar mass a gas,

while water a liquid at room temperature?

View Text Solution

67. Noble gases are chemically inert. Give reasons.

View Text Solution

68. Why do noble gases exist as monoatomic?

View Text Solution

69. Nitrogen exists as diatomic molecule and Phosphrus as .

Why?

P4

https://dl.doubtnut.com/l/_Yu1oK6vGftak
https://dl.doubtnut.com/l/_EIbw0hkRbE8y
https://dl.doubtnut.com/l/_YTFs1oRlEm8N
https://dl.doubtnut.com/l/_qbgkWHoMxa9I


Additional Questions 3 Mark Questions

View Text Solution

70. Why is  more acidic than water?

View Text Solution

H2S

1. Complete the following reactions. 

(i)  


(ii)  


(iii) 

View Text Solution

6Li + N2 → ?

3Ca + N2 → ?

2B + N2 → ?

https://dl.doubtnut.com/l/_qbgkWHoMxa9I
https://dl.doubtnut.com/l/_2j6bZ2GttM91
https://dl.doubtnut.com/l/_FM6DxbceLXot


2. How is ammonia prepared?

View Text Solution

3. Explain the stucture of ammonia.

View Text Solution

4. How will you prepare nitric acid?

View Text Solution

5. Discuss the Commerical method to prepare Nitric acid.

View Text Solution

https://dl.doubtnut.com/l/_JDDDpdLkWbCy
https://dl.doubtnut.com/l/_TzXiVxePrlZL
https://dl.doubtnut.com/l/_e6g8Jmes2DB2
https://dl.doubtnut.com/l/_lvTQCdfoBPTP


6. How will you prepare nitric acid by Ostwald's process?

View Text Solution

7. Draw the structure of the following compounds. 

(a) Nitrous acid (b) Nitric acid (c ) Pernitric acid

View Text Solution

8. Identify A, B and C from the following reactions. 

(i)  


(ii)  


(iii) 

View Text Solution

P4 + Mg → A

P4 + Ca → B

P4 + Na → C

https://dl.doubtnut.com/l/_O5sZfsyMW4vW
https://dl.doubtnut.com/l/_WP4a7wrnxwcg
https://dl.doubtnut.com/l/_Akjbn6pKlRw1
https://dl.doubtnut.com/l/_Y2lvolHdnyQo


9. How will you prepare phosphine and explain the purification

of phosphine?

View Text Solution

10. What happens when  reacts with oxygen or air?

View Text Solution

PH3

11. Explain the structure of phosphine.

View Text Solution

12. Discuss the uses of phosphine.

View Text Solution

https://dl.doubtnut.com/l/_Y2lvolHdnyQo
https://dl.doubtnut.com/l/_EdJV8HLSpZL7
https://dl.doubtnut.com/l/_DbKrVpH0GqWQ
https://dl.doubtnut.com/l/_sChUzSVrotJy


13. How does  reacts with the following reagents? 


(i)  


(ii) 

View Text Solution

PCl3

C2H5OH

C2H5COOH

14. Explain the reaction between  and water.

View Text Solution

PCl5

15. Explain the structure of phosphorous trioxide .

View Text Solution

(P2O3)

https://dl.doubtnut.com/l/_sChUzSVrotJy
https://dl.doubtnut.com/l/_pkhZJsjWsX5q
https://dl.doubtnut.com/l/_3gaUSHed0R7w
https://dl.doubtnut.com/l/_VBoLux5zZfdV


16. Discuss the structure of phosphorous pentaoxide .

View Text Solution

(P2O5)

17. Mention the uses of oxygen.

View Text Solution

18. Give and explain reducing behaviour of sulphur dioxide.

View Text Solution

19. Why bleaching action of sulphur dioxide is temporary?

View Text Solution

https://dl.doubtnut.com/l/_MNQbwGzewzuN
https://dl.doubtnut.com/l/_jMARWhLuLGC5
https://dl.doubtnut.com/l/_fSyYjk71FTkb
https://dl.doubtnut.com/l/_FMlCKcXhTEEN


20. Explain the structure of sulphur dioxide.

View Text Solution

21. How will you manufacture sulphuric acid by contact process?

View Text Solution

22. Prove that  is strong dibasic acid.

View Text Solution

H2SO4

23. Draw the structure of (a) Marshall's acid (b) Polythionic acid

(c ) Dithionic acid

View Text Solution

https://dl.doubtnut.com/l/_puaNM2tg9qfN
https://dl.doubtnut.com/l/_ipcbjpStQRiT
https://dl.doubtnut.com/l/_jxoxeJ8TBTpr
https://dl.doubtnut.com/l/_wq3v2N9JzpON


24. What happens when chlorine reacts with ammonia?

View Text Solution

25. Bleaching action of chlorine is permanent. Justify this

statement.

View Text Solution

26. Give the uses of chlorine.

View Text Solution

27. What is Royal water?

https://dl.doubtnut.com/l/_wq3v2N9JzpON
https://dl.doubtnut.com/l/_zJRmtc2WUjAN
https://dl.doubtnut.com/l/_lih3w5gBkQ8C
https://dl.doubtnut.com/l/_RT7GYqoor93L
https://dl.doubtnut.com/l/_lZg5oe0rduO7


View Text Solution

28. Why  is not stored in glass bottles?

View Text Solution

HF

29. Give the properties of inter halogen compounds.

View Text Solution

30. How will you prepare Xenon fluoride?

View Text Solution

https://dl.doubtnut.com/l/_lZg5oe0rduO7
https://dl.doubtnut.com/l/_ti9YiMHr7yCz
https://dl.doubtnut.com/l/_ikHtMlCVrB6R
https://dl.doubtnut.com/l/_Deh1wrdatzcv


31. Complete the following reaction. 

(i)  


(ii) 

View Text Solution

XeOF4 + SiO2 → A + SiF6

A + SiO2 → B + SiF6

32. What happens when  reacts 2.5 M solution of ?

View Text Solution

XeF6 NaOH

33. Give two examples to show the anomalous behaviour of

fluorine.

View Text Solution

https://dl.doubtnut.com/l/_yTqX4p89z4Dk
https://dl.doubtnut.com/l/_2f83vOu7D8fJ
https://dl.doubtnut.com/l/_5GGDOatCMtT1


Additional Questions 5 Mark Questions

34. Why does the reactivity of nitrogen differ from phosphorus?

View Text Solution

35. Why does  form hydrogen bond but  does not?

View Text Solution

NH3 PH3

36. Can  acts as an oxidising as well as a reducing agent?

Justify.

View Text Solution

PCl4

https://dl.doubtnut.com/l/_bmwiwRV2TMef
https://dl.doubtnut.com/l/_Gde6xoRZHzOj
https://dl.doubtnut.com/l/_FFVLhp0QjzsC


1. How does ammonia react with 

(a) Excess  (b)  (c )  (d) 

View Text Solution

Cl2 Na CuSO4 O2 /Δ

2. Explain the reaction of metals with nitric acid.

View Text Solution

3. How will you prepare ozone by laboratory method? Explain

the structure of ozone.

View Text Solution

https://dl.doubtnut.com/l/_8qkgjdrQR0eL
https://dl.doubtnut.com/l/_HdbaHUS58hNC
https://dl.doubtnut.com/l/_S2JZi6ynNb1T


4. A is a king of acid. A reacts with  to give B and Bromine.

A reacts with  to give C and carbon dioxide. Identify A,

B and C. Give the reaction.

View Text Solution

HBr

Na2CO3

5. How does Sulphuric acid react with the following : 

(a)  (b)  (c )  (d) 

View Text Solution

Al KNO3 NaBr C6H6

6. (i) Explain the test for sulphate (or) sulphuric acid. 

(ii) What happens when sulphuric acid reacts with oxalic acid?

View Text Solution

https://dl.doubtnut.com/l/_QbGrvwijUEEk
https://dl.doubtnut.com/l/_wNvoOPFbTG77
https://dl.doubtnut.com/l/_mXuZ0kJL5LRy
https://dl.doubtnut.com/l/_dyzeC7dxo9HI


7. Discuss the manufacture of chlorine.

View Text Solution

8. (i) How is bleaching power prepared? 

(ii) What happens when benzene reacts with chlorine?

View Text Solution

9. Conc.  is added followed by heating to each of the

following test tubes labelled (I) to (IV). Identify in which of the

above test tube the following change will be observed. Support

your answer with the help of chemical equation: 

(a) formation of black substance 

(b) evolution of brown gas 

H2SO4

https://dl.doubtnut.com/l/_dyzeC7dxo9HI
https://dl.doubtnut.com/l/_K8obJF0zaDkL
https://dl.doubtnut.com/l/_NqKur6inbcT9


(c ) evolution of colourless gas 

(d) formation of a brown substance which on dilution becomes

blue. 

(e) disappearance of yellow powder along with evolution of

colourless gas. 

View Text Solution

https://dl.doubtnut.com/l/_NqKur6inbcT9


10. Give reason for each of the following: 

(a) Bleaching of flowers by  is permanent while by  is

temporary. 

(b) Molten aluminium bromide is a poor conductor of

electricity. 

(c ) Nitric oxide becomes brown when released in air. 

(d)  is ionic in nature in the solid state. 


(e ) Ammonia is a good complexing agent.

View Text Solution

Cl2 SO2

PCl5

11. How will you prepare the following compounds. 

(a) Hyponitrous acid 

(b) Nitrous acid (c ) Pernitrous acid (d) Pernitric acid

View Text Solution

https://dl.doubtnut.com/l/_co1pvaKdTzjB
https://dl.doubtnut.com/l/_e9arwiVCmZjD



